'EXERCISES ’ ; | .
Fmd dot products of the followmg vectors.
Di=(43) md =25 2 r=02amd i=6-7) 3 w=04ad 5=(, 0

| LetZZ=(4,—6),§=(—7,—3),w=(2,-1).'Find |
Yuv 5y () O u4) D (w)(3) 8 (2v)(3)
9) (2u+v)ou 10)(3u+v)(u-v) . 11) (£—2§+Tv')-(§:+§) 12) (i?-"u?)ii

i

"~ Are the following vectors perpendicular?

13) u=(3,~4)and v=(8,6) 14) w=(2,~D)and u=(~4,-6)
15) w=(-2-Dand v=(3,~6)  16) v=(-2Dand u=(-7,4)

For which value(s) of x the vectors 1: 'and ; are berpendicular?
17) u=(x,—2) and v=03,6) - 18) u= (x-L1) and ;z(x,x—l)

Find the angle between vectors u and v. b
19) u:(l,.—3), v=(2,-1) | 20) u =(1,/3), ;=(_.2,0) 21) u=(6,-3), v=(2,4)

msi——]

Find the cosine of the angle between u=(-2, 1) and v=0, -5) and then use a ca]culatorto
approxmlate the angle.

22) u=(3,4), v=(5,-2) 23) u=(1,5), v=(-3,-1) 24) u=(0,-3), v=(-12)

swers |
17 2)-14  ~ 3)0 .
9) 94 10) 118 11) -96 12) (44,66)
13) yes 14) no 15) yes 16) no

i o TmEen  SssMTELm R 7
19) §=45 -20)-0=120" 21} 6=90"- 22) cosf=—"__ 6=~ u
; 5.925 " 74.93"-
P . , 0=119.74° =6
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